12(x —2)—(3x-3)-4=
6(2a-3)+7(2-a)-(3a-8)=

AHx+2y)+Bx=y)2-3(yv—x)=

7-18x=15-10x-9+5

2(~2x —5) = 3(1—4x) = T(x +1)

y—=1)+3y+2)=19

~10 = 2x — (x + 3)

3x+2)—(x+1)=7

2x -3(4x ~3) =5+2(x-1) .,
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3X+8=4(2x-3)



QWA [N 190NN NN oy NITRwn .3

+ 4 =1 5 SX-0CBx-D=x+15
Tx-5-x=3(x+2)-2 _ 5};4—2_%:};;1 )
5-3(4x-7)=2(5x+2) | ?x8—3_3x1;5=2 )
YOX =) =30x =T =2x 3:‘5_ - 2)(1(:3 ) 4X2_l R
4x+5 1-10x  2x+1 2x -1 lﬁx+15_l
9 18 2 ! 4 12 0

4(3x +2) +2 = 3(4x +5) 8(x—2)—x =4(x+3)-7



neratrn itk

.0'TN7N 59 TN NINDN MY .NMY QN0 WRAD N DTN S DNk anoa N
0N D2 oman nnd

.D'WIN 28 ' TN'a DTN WA W TN IWNN O'WAN 3 'O ¢ TR 1TNA A
7T 02 DY D'WAR NND

0'21y niainn 5-1 072710 4 .nainn 7@ nynnn 0'7pw 4-1 3im 7270 7w nnn A
?021INm 7w NN 1NNl 7200 v nnan on .o'%pe 38 Tna

Nt o TAYh 3 0t I? 4t Ana .o'TaYn 67 0rTRl? %00 N1 T NN Mva T
7NIN200 NNKR 722 0°TAI7 0TI AND 2T NN WKN

JIWRTN ND0NnNN 52 |97 1w 900N .27 NID 0900 W D120 o
.0M50NN 1Y NIX K¥N

nurnn 12 -2 nop n'eren Nt NN nrnn 4 19 07m wivna nnx nr A
WAURN NNt NNN ' 7TIA IR IR NMun

701I'N 0N NNd AN W I7an 2 9 | T YW 17 0 0w 4 197 0w 6-a axim T | T T

20NN Y 17'an 07793 2 19 D 0IW Nnd 197 .26 | rnki 30 jaane N

70010 201 2N 0ND 12 .aRN AN 1'wan jan anhn 09w 5 Tiva 09w 28-1 1man 71ma ax .0
5

.N7200 DX YN NIEIN INYN 9'W0 792 .AYIaE DiEIn 197 Ni'lan NIX7av 0>19Y

1 1 (r
i 7 10 12 15— 18 20—
J90nn 2 > X
1 1
Sk i 8- 11—
N 190NN 2 >

.0'rm nrinn Nx 1IN0



1 a
q90nn -2 0 10 25 30.5 41 45— k (
1YW 190NN -8 -6 4
.0'7'na NIFPIND NN INO2
1 1 a
q90nn -10 -2— 0 7 10 15— n (
2 2
1
awnoonn | —1 25 -5
.6

n"g 8% P71 0 o nann

n"p 24 N2y NN oMo' D X
?n"p 88 Ny Jnx¥n oMo' N> A
"R 200 N2y 9xn oMo o

"p 60 Ny ynxn oMo' o LT

4

.DTNY DNIYIN DINWNN 2DIY MAY D1VIIN 2DIY NN 1IAYM ,0MI12DNN DMIVIIN NN VYD

X=-4 uUND

X=-3 9WUND

x="-1

AWYND

~(5=2%x)= (2 ~—X%)
“2(=x%+3)+3(L = 5x)+6

—4(1 +3x)+(-8x+2) - (2x — 6)

N

o |

2



INMIND NPT MYZEN YW INND TN OIINN L3 2919700 12232 NPT MYIE DY TAN 13 IDTIN
290 Hapnn 727 ,nre 2-2 NOPIN NI

.o 28 KN 1a9nn v e

AN DY NOYN 9NN INAYN LN

Jadnpn noY NN avn a3



AMI0nIN'a

9
B - o anavn oNan Deennn TRN 92
A
D
.
p
C B
c
10
. I +10 o+ 1q
> n 5 L0 DN NER (N
MMM NN 72 9¢ M nn o ()
AT TR
A1
38°N o
T\ p INBYD DO TR P22
LY L P o nNNen
a2
c
E
O nmpna oannn ,mY m oanmn C0- AB oweon
O nmpyn 177 12w EF won
. <EOC =20° .pm
0 oL TN Y DT R
Eha -
20° (1
T (2)
90°  (3)
160°  (4)
F
D



O nmpra oonny ,CD-Y AB 0w v
Ao w xan OE

<BOD=120° .pm
LCOE =70°

0L TOMA DY NOTH N

(LB =90 mnt w» vown xn ABC

0L TOMN W DTN NN L,0I0TD DWANN DMMN THD DY

A3

.14

15

292 ABFE : pmy vyonen
ABFC -y AADE owhenn
M e DU en oN

20 X N AB you TN

n'o 2o 4 Xan AE 7N
2o 3 xXan DE 1w FC 9%

-ABFE %m0 now mNXPHY M2ON hoa o (N)

. AADE nownaxXNs» (3)

SABCD nmisn now MNXonY MAOX e 0w ()

2 X=12"0 14 . OX "Msn now I (1)



a 16

ofaEn o e siwa oanl o ll S

105* ST P T D aen

e, oy

Y7I¥NA Yanna  wivna nitinr oo

X -2 manionn nentn e AT Ta ik oawn gwo pa 17

54

-1 TIRIORN DPNTA TTIA TN DN 0'Ean o'olonoan Tns oo 18

VAR

a N

.360 X1n yanna nifut oo NIRTh



B
A nir? nnw C nir ABC wiwna 19
A nuirn 3 9a%wma B nunl
X c 2¢wnn NPT AN

7vin A nurhw aYmanx x -2 [po

nrura Y 1% omaatk ot and
JINNKRD

o'now

T W D'wIUNn nwI7e 99 D1LRIin 0'01I0N0 03197.20

.ON'NOY NX 1DWN
n"o3
n"0o 6 n'o5 n'o 4
a N
[1 - n"o6
n"o 6
5

n"oa nirnn .yann Yw |upin vIvYo D197 .21
.INLY NX 12WN

|
|
4|
|
|
O
7 3

Wiwn nda9Yh .22

- n"o 1 nyawnn vy
/\ ANLW NX AWN
C B

n"o 14 -1 n"o 22 ryn xR T w2ivn 9w nown nx nwn .23




000 [ mThnn  owTen ety e 0Ioim o'oiono o»1ey 24

On"Nuw K 12N
S'Tnn nuana

Phxux inn Te'tenn now arrn't nnan o vn e o
U nmIKT A2an M D
TIUON NoW DM 2N .

A M
8
" 5
4 10
3
4
ANTIER e oono ooet 25
AN IE N
5 n"oa niman
-
12
Inn'va nwoin

10



